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Tax Month From: 1

B
3 - Net Income Tax: 4800 (1+2)





         
Total amount of national insurance deducted from all employees during the dates shown above and the total amount of employer’s national insurance due on any payroll processed during the dates shown above. This also needs to be paid to HMRC





These will usually be zero unless you are claiming reductions on national insurance for various statutory payments to your employees





The total of 1 and 2 added together





HMRC Tax Month Number





Name of Employer





Total Student Loan Deductions from all employees during the dates shown above that needs to be paid to HMRC





The total of national insurance due; minus any reductions being claimed





The total of all tax and national insurance, that needs to be paid to HMRC by the due date





Total tax deducted from all employees between the dates shown above that needs to be paid to HMRC





P32 relates to all payroll processed between these dates





Payment is due to reach HMRC by 19th of that month eg.19/01/2013





Note:  If the amount shown at line 17 is a minus figure, you need to deduct the amount shown from your next payment due to HMRC.
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